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S BB SR (B) - NEAY - BAS 0f & o Soe DB

FTAS S AHH 4 It 13,827,607 9,364,880 4,462,727
= 1,357,500
= 5,000,000
= 7,470,107

FIAs =AM ZA (sl b5 - &) 13,246,100 8,826,880 4,419,220
2 1,357,500
= 5,000,000
& 6,888,600

dSSOHEFTAIMEE R 2E 160,400 217,880 A57,480

FTIALHH S E 33 2H 160,400 217,880 A57,480

201 B2 101,000 116,000 A 15,000

01 AtR2t2itl 63,000 78,000 A 15,000
Og et ==l 30,000
Ooitzrels 20,000
OAIRESH 2= 10,000
O2d+4 15,000
OFTAtH M SE 2 SEAY 15,000
Ogx= 18,000
OFTAtH =AY Xt = 18,000

02 3323l 8,000 8,000 0
OXEded S 8,000

03 A2l 30,000 30,000 0
OFTA A as( S22 2103 30,000

203 ¥ =&l 15,000 15,000 0

03 AMH=THIFAH| 15,000 15,000 0
OFTALISE R =8 15,000

204 A= HH| 29,400 28,800 600

01 RS FR+=AFH 29,400 28,800 600
OFTALH 2 EE A2 E 950,000 18 128 11,400

OFTAE S E 2= nt?2 &

750,000& »2H 123 18,000

301 Let2a= 15,000 15,000 0

10 EAIAHIE2 oS 15,000 15,000 0
OFTALiS2BI24 15,000

sZHelW= 3,865,700 4,489,000 623,300
= 1,357,500
= 2,508,200

sEILALE N 599,200 672,000 AT72,800
= 535,000
= 64,200

308 AXIEHHSOIA 599,200 672,000 AT72,800
= 535,000
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< 64,200
01 MHXSHHZAHBES 599,200 672,000 A72,800
Os0YIYALL X 599,200
= 535,000
= 64,200
=AY NS 198,000 200,000 £2,000
= 110,000
= 83,000
403 RXSHSKH=0IH 198,000 200,000 £2,000
= 110,000
= 83,000
02 BII2HS0ll CHEHCH S AR B 198,000 200,000 £2,000
D&Y=L Y DI X 198,000
= 110,000
= 83,000
HD=sAZYNUZDS 134,000 126,000 8,000
308 XIXIEHHI SOl & 134,000 126,000 8,000
01 MASHHZAHSES 134,000 126,000 8,000
EREEEREE R 134,000
SOARS D DS 900,000 900,000 0
403 RXSHSKH=0IH 900,000 900,000 0
02 2712 0fl CH St CH 8 AL b 900,000 900,000 0
Os2AZS DS 900,000
=N =LEH 2SS 2 40,000 40,000 0
307 12+0I 40,000 40,000 0
02 QIAHABE 40,000 40,000 0
BEEY PP 40,000
SQOINEX A 25,000 25,000 0
201 Yereg| 10,000 10,000 0
01 Attt 10,000 10,000 0
EEEER=Y] 7,000
OSQARS NI NRROIS 7,000
BEEE] 3,000
OSAANSNAZTSA 3,000
202 01t 15,000 15,000 0
01 =Uoit] 15,000 15,000 0
(=2 DS X2 EZ 01yl 15,000
= QICEO HI| B RS K| 750,000 450,000 300,000
403 XX GHRIS K20/ & 750,000 450,000 300,000
01 XHXISHH RSB 750,000 450,000 300,000




S FTASS AR D)
S FIAS=H0IHFA (s

=

29 seEdlus (e
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OX S sHCE0E &It = X & 750,000
SUSSEZUENA 1,080,000 2,076,000 A996,000
= 600,000
& 480,000
403 XXM SA=01H 1,080,000 2,076,000 996,000
= 600,000
= 480,000
02 212 SOCHEHCHE A HI 1,080,000 1,500,000 A420,000
U= 00l AEOHE 1,080,000
= 600,000
= 480,000
=ZZEN BHEXZXNG T2 139,500 0 139,500
= 112,500
& 27,000
403 XXM SA=01H 139,500 0 139,500
= 112,500
= 27,000
01 XM= E X 139,500 0 139,500
s EdEX N2 0 139,500
= 112,500
= 27,000
FTAHSA S ESE Y 7,935,000 3,970,000 3,965,000
= 5,000,000
& 2,935,000
ZASHAHAMS (X)) 6,120,000 3,126,000 2,994,000
& 4,400,000
& 1,720,000
308 NXIHHSOIH 2,362,000 942,000 1,420,000
= 1,740,000
< 622,000
01 AXNHMBLEEXS 2,362,000 942,000 1,420,000
OS2 AHASYI 2,362,000
= 1,740,000
& 622,000
403 XXM SA=201H 3,758,000 2,184,000 1,574,000
& 2,660,000
& 1,098,000
01 AXSHMA2E = 3,758,000 2,184,000 1,574,000
2SS AHARI 3,758,000
= 2,660,000
= 1,098,000
DRIDI=ssSEAMY 210,000 200,000 10,000
403 XX HSA201H 210,000 200,000 10,000
01 AXESMIA2E = 210,000 200,000 10,000
ORI ssSEAY 210,000
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FTACHS 5 2IRRDE & 51 ALY 700,000 600,000 100,000
402 PI2AX RO 700,000 600,000 100,000
01 DIAX=EE 700,000 600,000 100,000
CIFTACHS 5 0f 2RADE & HAL & 700,000
MEFEHLET 25,000 25,000 0
201 Yot | 5,000 5,000 0
01 At 2r2ly| 5,000 5,000 0
mEETE=Y] 5,000
ONEHSHANLFZANERS 5,000
202 OiH| 20,000 20,000 0
01 2UH0ibI 20,000 20,000 0
A& &S A EX 0] 20,000
OIS YBEL ALY 780,000 0 780,000
3 600,000
= 180,000
403 RHEISHH S K20 780,000 0 780,000
3 600,000
= 180,000
01 RXISHKZEE 780,000 0 780,000
O 20H22BE ALY 780,000
3 600,000
= 180,000
5012 -BAK 2Y 100,000 0 100,000
207 HPIHLHI 100,000 0 100,000
02 & Af | 100,000 0 100,000
0502 |-BAKS S A A S 100,000
HElSOHL L 2HEA HE 1,285,000 150,000 1,135,000
SHels X |l 985,000 150,000 835,000
201 Yot | 105,000 0 105,000
01 Attt 105,000 0 105,000
mEETES=Y] 100,000
OE2SHMUBIES 100,000
mEETH 5,000
Ofel s L EaZA 5,000
202 04t 40,000 0 40,000
03 29/ 201H| 40,000 0 40,000
CIFTACHS 61 21 55 24 &1 B 5 AF 40,000
301 LPBAI 40,000 40,000 0
07 PIZHI=2l 04t 40,000 40,000 0
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CIFTACH S 1 21 5 & AL EH & At 40,000
402 QI2tXE0IE 750,000 60,000 690,000
01 BI2AXEEX 750,000 60,000 690,000
(Z=HAsA RS 750,000
403 REXISHH S XH=0| & 50,000 0 50,000
02 ZII2SOICHEHCH 8 AL U] 50,000 0 50,000
(225U YSMTSYI&HLT 50,000
2 #A HE K 300,000 0 300,000
307 2I2H0IA 200,000 0 200,000
02 BItHAEE 200,000 0 200,000
(22YsYEAIMAZX LM 100,000
D= RIA 25210 7 (FA0) O EN S 5] B AL RI & 100,000
401 Al HIZL 2T 100,000 0 100,000
04 BALZHR Al &H 100,000 0 100,000
= RAZ 52| 7(FA0)OLEH B3 S A ZMAIS
2229 100,000
HEYSHAH (FTASS AR D) (DIEH/DIE) 81,507 38,000 43,507
ol 2| 43,507 0 43,507
ol 2| 43,507 0 43,507
101 Q1214 43,507 0 43,507
02 JIEHE 24 43,507 0 43,507
OFTAM S 25 2% 43,507
[SES 34,807
- AZoEEL"2"'S
1,690, 30084 * 1«12 20,284
- A ZolEE LS
1,210,20080 1Y+ 12 14,523
gxagdsy 5,000
o528 3,700
Jl23l 38,000 38,000 0
Jle 3l 38,000 38,000 0
201 Lered] 25,000 25,000 0
01 At22tel] 23,000 25,000 A2,000
O et2| 13,000
ONREEARHEEZRY 8,000
OFTAH R Rt 2 ROIS 5,000
mEET] 10,000
OFTAS S AHH B = &I Z 4] 10,000
02 2329l 2,000 0 2,000
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DAl #Hl= X 2,000
OMEEIIIS 2,000

202 Oddl 13,000 13,000 0

01 =LHOYI 13,000 13,000 0
SEMERFANH 13,000

HRES(FASSAHUAMY) (s LN /5 - 5E) 500,000 500,000 0

LHEHHXI = 500,000 500,000 0

sHENEIISTE 500,000 500,000 0

02 JIsdEs 500,000 500,000 0

01 JI=sdE=S 500,000 500,000 0
OsHEMEIISEECHEA 500,000




